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Choose 2 objects. Draw them in the right column.

LO: I am learning about weight and mass.

B:To study two objects and predict which will be heavier.

S:To study objects and predict which will be heavier.

6:To study objects and predict which will be heavier before holding them.

Lighter:

Heavier:
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Measure mass

o How much does each object weigh?

a)

The banana weighs

cubes.

cubes.

The slice of cake weighs

cubes.




2{/)

o Draw cubes to balance the scales.

a) The toy car weighs 6 cubes.

b) The sweets weigh 4 cubes.

o Use cubes to weigh objects in your classroom.

Complete this sentence for each object.

weighs cubes.

Compare answers with a partner. { 9

i
© White Rose Maths 2019
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Computing

1. Have a look at some story books in your house. This half term we will be creating
our own animated story books called e-books.

2. Watch the example story called The Pirate Cat, use the link below when you are
logged in

le ides/2C The Pirate C

3. Open the 2do 2Create a story and click: My simple story.
Have a go at creating your own story!

Make sure you save it! :)



Capital Letters for Places

1a. Complete this sentence about the
counfry you were bom in,

write the capital letter in the box.

| was born in

11

Z2a. Orla has written the address of her
school for a leHe:.

Leek school

long Lane
leek

ST13 7AP

Correct the 2 mislakes,

W

Sa. Are all of the capital lethers in this
sentence comect? Explain why.

my friend is from london.

Capital Letters for Places

1b. Compiete this sentence abovut the
town you live in.

write the capital letter in the box.

| live in

|

2b. Ned has written the address of his
school for a lofter.

Old town School

Ball lane
Hull

HU1 4AE

Correct the 2 mistakes,

|

Sb. Are all of the capital letters in this
sentence cornrect? Explain why.

i go fo Little town School.



Lightest:

Heaviest:

1.
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At home please get a few different containers that can hold water.

k wi explore the ing questions:
1. Fill one of the containers.
What happens if you pour the water from one container to the other?
What happens if you use containers of different sizes?

2. Can you fill one container until it is full, one until it is half full and keep
one empty?

3. Can you fill two containers until they have the same amount of water in
them?

Do the containers need to be the same for them to have the same amount of water in?
How can you check that two containers have the same amount of water in?

Take some pictures and upload them to google classroom!
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